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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 35 questions.
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Cundidates must write their Roll Number on the question paper.
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Before answering the quesiions, ensure that you have been supplied the correct and
complete question p ’ no-claim in this regard, will be entertained after

examination. @ . .

= A3 :

General Instructions :

i) &t e a8

All questions are compu Isory. ‘
i) 997 7% 1 @ 35 7% TGS F & I T 1 o5 7 & P S
JuT QN

.. . L 1
Questions from 1 to 35 are objective type questions. Each question is of
mark. Answer the questions as per instructions.
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(2) 5628/(Set : C)
R 2 R ey e 7 (1-18) 7 et aifes gy et GT ¢ |
Directions : Select the most appropriafe option from those given below each question
(1to 18):

1. TR CIS I 1
(A) gt Y arfar (B) ﬁqﬁﬁfaﬁaﬁzﬂ
(©) RF @ (D) e @ sifi
A ncgatively charged body has in it
(A) Excess of Neutrons (B) Excess ol Elcctrons
(C) Deficiency of Electrons (D) Exccss of Protons

Iy

2. ¥ guF gARE Reg-omasd, R 5@% 1 pe F oA 3, A LAY # g0 W aF

TG I B A Rufoet o B - . 1
(A) 13« (B) 1 -
(C) 9x 1072 S . (D) 3HF

The electric potential energy of a systemi of two positive point charges of | uc
each placed in air 1 metre a @t 15
R

(A) 1 Joule &6 (B) 1 clectron-volt
N3
(C) 9 x 103Joule $§ (D) Zero
$
3. U 9 () T g awr (1) ¥ e 2 3
. . A
(A) J=VulA (B) J=7
© j=— D) .j= I
J== | J=
The relation between current density (j} and clectric current (1) is :
() j= ValA ® =
© j=+ D) j=1
J a ) J=1IA
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(3) 5628/(Set : C)
4. = B S v R ¥ Rar ¥, w0 v @@t S92 @ C 9RE a9 § 1

C .
Iug > 3¢V

N

3 et ¥ : . )
(A) TEE (B) =TS
(C) FE&H (D) IRgT § & P 78

Encrgy band of substance. shown in the figure where V is valence band and C
is conduction band : ' :

IEE > 3eV

VS

Substance is : . .
(A) Metal _ Q’Q\ (B) Semiconductor
(C) Insulator gﬁ\ (D) None of the above
NS
Q\Q‘G
5.aapnﬂﬁwq%meﬁngaﬁﬁﬁmw% e TE o
(a) fwE dus FgEr ? (B) WgHEHF dI6% URI H qoT a1 &
C) RRImHFTWmIME (D) IRE & & B T
When a reverse biased is applied to a p-n junction, it :
(A) Raises the potential barrier (B) Increascs thc majority carricr current
(C) Lowers the potential barrier (D} Nonc of the above
6. Wm#maﬁﬁawﬁsﬁﬁa@&ﬁm-m cV Bl §H e
%o o e st &80 1
(A) -3.4¢V (B) 6.8 cV
(C) -6.8eV . (D) L7 ceV

The total energy of an electron in the first excited state of the hydrogen atom is
about -3.4 eV. Potential energy of the clectron in this state is :

(A) -3.4¢eV (B) 6.8 cV
(C) —6.8¢V (D) -1.7 ¢V
5628/(Set : C)/ Il P.T.O.
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7. O G R =g de N @ @ AR ey A 2 e 8, FE € 1
(A) TR : (B) Tl
(C) wwes (D) IR F P T
Nuclides with same neutron number N but different atomic number Z arc
called :
(A) Isobars - (B) Isotones
(C) Isotopes (D) None of the above

8. T 1905 ¥ fem Yoie I wer Rgq w1 e 3 f ¥ ge BT @ 0@
s w9 F T REor st B e 1
(A) P - (B) MR |
(C) TR (D) FeT
In 1905, which scientist proposed a radically new picture of chCLrOmagn‘cLic
radiation to explain photoelectric effect ?

(A) Millikan (B) Einstein
(C) Rutherford . (D) Compton
9, 100 V & fvaER @v aRd @ deaftg 2-sielt ave=t ® - . 1
l SR
(A) .1127 nm 6‘2’6 (B) .1.127 nm
(C) .127 nm \Q‘b (D) .1227 nm

de-Broglie wavel@h associated with an’ electron, accclerated ' through a
potential difference of 100 Volt is :

(A) .1127 nm (B) 1.127nm
(C) .127 nm (D) .1227 nm

10. 77 & falrd s & B & vow @ R A T A a9 W Bkl & awafes R c 1
(A) ¥ TEME (B) gl &
(C) weT® (D) =R Yot e & o ¥

In Young's double slit experiment, the screen is moved away from the planc of
the slits, the actual separation of the Fringes :

(A) remain constant (B) increascs

(C) decreases (D) interference pattern disappcars
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(5) | 5628/(Set : C)

11. 60° N At B o Gt swwvar 3 Rd e Ry @1 30° Y1 %@ Refy F amgost
H 9+ B 1
(A) 30° (B) 45°
(C) 60° (D) 75°
FU"' }’?110“’ light incident on a prism of angle 60° the angle of minimum
deviation is 30°. The angle of incidence in this situation is
(A) 30° - (B) 45°
(C) 60° (D) 75°

12. ‘TR ¥ Rhe oo & 9w dar @ ? 1
(A) AT (B) WEd
(C) fagger - (D) Yoi-STIE e
Which phenomena is used in "MIRAGE" ?
(A) Interference (B) Reflection
(C) Dispersion (D} «Total Internal Reflection

13. 3 & FoFe gt 8D @ 4D ¥ @ F 7@ ¥ o Hgw wee-gh ¥ 1
(A) 50 ¥ (B} -50 &+t
© 25&F \@@ (D) —25 ¥t

Two lens of power 8%&1{1 —4D are placed in contact, F‘_ocal' length of the
combination will ch\Q%'

(A) 50 cm @$ . (B) -50cm

(C) 25cm : - (D) -25cm

14, wWﬁmW1mﬂsaﬁrﬁwzwam%uﬁmﬂﬂ

AR fergger ares & @ ¢ | L
) 3de | (B) 30 @re
" (C) 300 Aw (D) .3 A<

The magnetic flux linked with a coil is decreased from 5 Weber 1o 2 Weber in
1 second. The induced electromotive force in the coil is :

(A) 3 Volt (B) 30 Volt
(C) 300 Volt (D) .3 Volt
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(6) 5628/(Set : C)

15. Thg &% % @ O 6K B @ ¥ { T T A T e 78§ 7 1
(A) W H &HT W (B) &% # dfimar W
(C) & 3 TR U & ARAAE W (D) W H AHT W
The magnetic flux threading a wire loop placed in a magnctic ficld docs not
depend upon : ‘
(A) Area of the loop
(B) Magnitude of the field
(C) Orientation of the loop with respect to the field

(D) Shape of the loop

16. W%W%‘Mﬁgwﬁ#mﬁmmﬁgﬂwmm%: 1
A) REgasa FaA- (B) Fgw &5 E @
(C) g%=9 &5 B @l (D) g a1
The tangent to the field line at a given point representsithe dircction of the
net :
(A) Electric Force (F) (B) Electric Ficld (E)
(C) Magnetic Field (B) (D) Electric Current (I)

17. frd 9o ool IoHe W ¥ sy foar e § 1
(A) TR § g2 ARy , (B) @AM ¥ «g Hferdd & &
() At F g=a ARy | (D) &f % @ig ofg &1 |

Moving coil galvan er is.converted into ammeter by :
(A) Connectinghigh resistance in parallel

(B) Connecting low resistance in parallel
(C) Connecting high resistance in series
(DI Connecting low resistance in series

18. ;?.eﬂqnﬁiﬁﬂm?f-mﬁrﬁﬁﬁﬁﬁdhmaﬂﬁa‘aﬁmgﬁm%ﬂ% Sga w41 sfy
. _ 1

BRI :
(A) 8R (B) 4R
(C) 12R (D) 16R

The length of a metallic wire of R ohm resistance is stretched four times its
initial length. Its new resistance is :

(A) 8R ' (B) 4R
(C) 12R (D) 16R
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(7) 5628/(Set : C)

PRI : (77 19 & 27) augmr aut & Raw @l 3 gif #f -

Direction : (Q

- No.-19 to 27) Fill in the blanks with appropriate answer :

19. ga & Y@ ... A ST AFT FOIT WA A By 1
Electric field lines start from ....oooeenoin. and cnd at ncgative charges. _
20. T Wewql wy e o & R oy ohiw Rgg S e 3 qREr 3 w9 H
R R ¥ ‘

An important quantity is the mobility u defincd as thc magnitude of the
.............. per unit clectric field.

21. Ui B MR W R W 3 & TR Bl Bl L
The ............... inside solenoid becomes everywhere parallel to the axis.
22. FHFN 957 W WX ¥ & emf IO~ o, FreRiiag &9 g sl 3 wro 3 4R

23.

249.

25.

URRTT B - S, DY AT .o | 1

The generation of emf by a solar cell, when light falls on, it is duc to the
following three basic processes : generation; separation and

.............. % ) i e e e R § 1

In ............., heavy nucleus decays into lighter nucleus.

Photons are f:let:trir:aQ
N
$

Mﬁﬁ;w%ﬁ,'wmﬁwwmmaﬁﬁﬁm
............ | 1

The ratio of the sine of the angle of incidence to the sine of angle of refraction
Is

---------------

__10 * -] - f
26. 1074 wies i X-RTl, 6800A TRY & ey, @m 500 A A W wid 3 Rrd

............ (e Tfn) o a w Y 1
R (Physical quantity) is same for X-rays of wavelength 10" '%m, red
light of wavelength 6800A and radio waves of wavelength 500 m.

27, S R TE FS LA ... LB 1
SI unit of coefficient of mutual inductance is ..........c.euee -
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(8) 5628/(Set : C)
R : (797 28 @ 35) frmfirem wodt & gt oF g a7 e -

Direction : (Q. No, 28 to 35) Answer the following questions in one word/ sentence ;

28. UF TR WA N WAA 5x10' 2800 qur Bex & 8x10'3 ¥ ° ¥ s
p-T139 &R ST¥ET n-eEy ? 1
In a semiconductor, the concentration of clectrons is 5x10'%¢m 3 and that of
holes is 8x108¢em-3. Is it a p-lype or n-typc semiconductor ?

29, mm%@ﬁmﬁgﬁ%qﬁmmﬁﬁw%%wﬂﬁﬁw#ﬁﬂ
fsatt et 7

The radius of the first electron-orbit in hydrogen atom of Bohr model is r,.
What will be the radius of the third orbit.

30. §M @M § HH qURE # A T a0 ARG @ o oo g@r @ o
T FA F T T8 3 &g Ferr B e ? 1

Two light waves of equal amplitude and wavelength are superimposcd. What is
the phase difference between the waves so that amplitude of the resultant
wave will be minimum.

31. T FHy F UHT H A, JHT & T ) AR @ R (&F ar 78 ) 1
Is the speed of light in glass independent of the colour of light ? {Yes or No)

32. F %%d 91 30 o9 § 2 F g W 0% 9 @& &1 a9 3 g6 SR ag & e
Fef g ! . 1
An object is plaéed at a @nce of 2 F from a convex lens of focal length F.
Where should image of (g?ict formed on the other sidc of lens.

W .
33~ﬁ%§%ﬂﬁ@§m(m}ﬂwmﬂmmﬁm%? 1
What is the value of angle of dip at the Earth's magnctic cquator ?
34. & s iy AdiEa A 2 8 TP Y T o 2 1
Two unequal resistance are connected in serics. What is same for them ?
35. aigell ¥ gaegil & g W A9 & g W o IE TE § 7 1

What is the effect on relaxation time of ¢lectrons in metals, with decrease in
temperature ?
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